HEW &MY

Al A

0244 =4 2 3| LBHg|H nSHF Dt
A nsSsE
HH: (JZLS oHN 3=
Gl WSHA HE 2 AtD ol (SH9 H2)
M- - SA(3) - MRAY - BES Ofl kel | & A Hlwsz2
M= Pain); 1,091,099 828,230 262,869
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- 720,079 714,530 5,549
= 77,420 56,700 20,720
H=ws ofrd &2 1,033,292 754,892 278,400
S 200,000 0 200,000
Al 93,600 57,000 36,600
- 662,272 641,192 21,080
= 77,420 56,700 20,720
LWEMA HE & AtD ol 1,003,673 725,273 278,400
= 200,000 0 200,000
Al 93,600 57,000 36,600
- 632,653 611,573 21,080
= 77,420 56,700 20,720
ABIWSE Ord oAl & 29,188 49,508 A20,320
101 2124l 12,000 32,320 220,320
M IIZINZ22 NS Es 12,000 32,320 A20,320
OSSR AL Q121H]
23 12,000,000& 12,000 32,320 A20,320
WSHMAILE 4Xl - | 365,290 340,290 25,000
401 A& BIZ20HbI 345,000 320,000 25,000
01 Al&Hl 345,000 320,000 25,000
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- 8,400 0 8,400
= 20,720 0 20,720
401 A& B 200 48,720 0 48,720
Al 19,600 0 19,600
- 8,400 0 8,400
= 20,720 0 20,720
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2& 7,629,000 7,629 13,440 25,811
405 XHAHE SHI 2,700 0 2,700
01 XL = SF = 2,700 0 2,700
OAIRE &t 2 X 2,700 0 2,700
=398 g4 ¢ 300,000 *17H 300 0 300
=398 o 7 160,000 *6IH 960 0 960
oIS AN P 240,000 *6H 1,440 0 1,440
HREs(NSsHF ) 5,641 0 5,641
28XE 5,641 0 5,641
2X3 gtels 5,641 0 5,641
802 Bt I} 5,641 0 5,641
02 Al - ZHIEX=SEtet= 5,641 0 5,641
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